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Установите соответствие между репликами-стимулами и ответными репликами. Выберите
один из предложенных вариантов ответа. Одна ответная реплика является лишней.
 

РЕПЛИКИ-СТИМУЛЫ   ОТВЕТНЫЕ

1  — I haven't seen you for ages!
2  — How's the new job going?
3  — You're pretty good at presentations, aren't you?
4  — What are you busy with these days?

 

A  — Not at all. Please do.
B  — Oh, not much. How about
C  — Yes, it's been a long time, 
D  — Thanks. I've just done a c
E  — Fine, thanks. It's really int

1) 1B2D3E4A 2) 1B2A3E4D 3) 1C2E3D4B 4) 1C2B3A4D


